
 

                          Bazooka-Dipol 

 (Monoband breitbandig unempfindlich) 

    

Innenleiter mit Schirmung verlöten 

(Wetterfest mit Polyisobutylen-Band) 

L = 142,5 / f [MHz] 

B = 49,5 / f [MHz] 

A = (L – 2B) / 2 

MHz A [m] B [m] LB [m] L [m] 
3,60 6,04 13,75 27,50 39,58 
3,70 5,88 13,38 26,76 38,51 
7,05 3,09 7,02 14,04 20,21 
10,10 2,15 4,90 9,80 14,11 
14,20 1,53 3,49 6,97 10,04 
18,10 1,20 2,73 5,47 7,87 
21,20 1,03 2,33 4,67 6,72 
24,90 0,87 1,99 3,98 5,72 
28,50 0,76 1,74 3,47 5,00 
51,00 0,43 0,97 1,94 2,79 

435,00 0,05 0,11 0,23 0,33  


